BERARBZIBESEZR  s-1/500

it
T—=TLYL—2.9tRY R/ R=183000 18000
(7K FF&=175000)
.
g \ v 233.500
23
_ g
° EH
2 2
® 2
(i) SHE R DEI/6 e -
°
. 8
8\% /O
~ 2 OL=164. 6]

]
LERHET
DL=145
HEXKRISER s-1/50
FEWLT XEERIG XHES— b+
(ElREER) (Z%3E8) T4 UF (KEH) FLE
R B LA AR BE/ I
" \ T
BE/XA T 486425
BREBM XAERIRE1800 EonE
g s s — b
3 E H=2miZE
St 4
4 HERS AN
+ MOIP()é\()HB 9 é} %
1500 i
SRR 1800 I$4 |R1ZE RS =- UKk BIHERIZ (1)
BiRa%E | BRE

THER | ZHFmUHETER (5153

REsz | $ZR (RRT)

#R S ﬁﬁ%\ 1/

EXoE]

25840 | (EERERDLARER CGHFTD)




